Soluciones de los ejercicios de la unidad 7: MATRICES.
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Ejerciciol: A+B=|4 2 1. A-B=|2 -2 -1 AB=|3 0 3
6 2 1 4 0 1 7 3 6
7 1 2 9 1 3 2 11
BA=|13 1 2 A’z 6 0 3 B?=|4 5 3
5 01 18 1 6 2 2 2
5 3 2 -3 1 0 -3 7 2
Ejercicio2: A+B=|-2 3 2/|; A-B=| 6 -1 2|AB=|-2 8 4
2 4 4 0O 0 2 -1 11 4
7 11 9 6 6 8 1 8 5 26 34 42
BA=|0 -6 O A2=|6 9 10 B2=(-24 0 -4 A’=134 41 54
6 6 8 8 10 14 -3 7 2 42 54 70
3 0 9 7 2 17 12 7 12 1 13
Ejercicio3: 3A=|6 -3 6|,3A+2C=|12 -3 4 |;CA=|1 -2 8|;AB=| 4 13|,
6 6 3 14 4 13 12 11 15 2 0
Ejercicio4: A?-3A -I=0 Ejercicio 5: B?= I
Eiercicio 6: A = -1/7 3/7 4/7 _(9/7 8/7 6/7
/ SRR S T VY AR V) 4 Lo 1/7 2/7
Ejercicio 8: x=-5/4 y=-7/4 Ejercicio 9: Anz(é ;‘J
o, (X Yy z
Ejercicio 10: A_(O 0 1] conx,y,x eR
28 b1 4 -1
TP foT- : o 121
Ejercicio 11: 3A A"-2T [51 85),X [_10 3] Ejercicio 12: No es ortogonal.
172 -1/2 0
Ejercicio15: X=| O 1 1
-1/2 -1/2 -1
1 00
Ejercicio 16: AB = 1o AC = 20 A'B'=10 1 0 C'A'= 2 2
01 2 2 1 2 0 0 2



